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PART . A

Answer all the queslions Each cafies % mark.

1 A rnatr x in which every elemenl ls zero.

a) Unil b) Diagonal

c) Scalar d) Null

2. A^B=C means

a) ore

a) 100

c) 1100

a) A and B are gnion b) A and B are..dlsjoinl.-

r A "no B d;e inlerr" dred d' \ocp

I SrrulldneoJ 6qu.lor. n6on, d .6r or aqudlror: rn

4. The sum al the erd ot 2 years for 1000 al 10% p.a. compounded yearly

b) 210

d) 1210



PART C

Answerany six quesiiois (nol exceedlng one page) Each ca(es three marks

11. A dcalcr has 1000 kg sugar and he seJls a part ol il ai a% prol t and the resl ol
il al 1 8% proi L The overall proiil he earns is 14% What is the qranlily which
is sol'j at 18% proiit ?

lz. TndI p .o1pou-o lpres.o- Bs IO0Olo. d)ed'sIr'Fre rspd)doph.r
yearly lor the jirst 3 years al llre rale oi 8% p.a. and lor ihe iolrlh year, the
- rrr. i( pr/aor q.irl..'v dl're'arp or 60" o d

13 Solve2x-y=5
3x 4Y = 10.

14. Elplain lhe methods ot describing a se1

15. A machine wilh uselul lle ot 7 years cosls Bs. 10,000 wh e anolher rnachine
wilh !seJ! lile ol 5 years cosls Rs. 8,000. The iirst machine saves labolr
expenses oi Fls 1,900 annually and the second one saves abour expenses
by Rs.2,200 annlally. Delerminelhe prelened cou.se ol actiof. Assurne cosl
oj borowing as 10% compounded p.a.

t t I t

A' 14' any four q ,a ror Each d i" one r , r

5 A grocer wishes lo sell a mixllre ol lwo var elies 01 p! ses woifi Bs. 16 per
kg l. whal rat o must he mix the puises lo reach th s se ng pr ce, whe. cosl
ol one variely oi puses is FIs 14 per k9 and lhe olher s Fs.24 pcr kg ?

6 Fi.d ihe.lmber oi years a sum ol ns. l0 000 w lake io becooe 18,000 llhe
rale oi inlerest ls 8o/o

7 What is Ve.. diagram ?

I Exemplty the transpose ot a malrix.

12 3

35
i0 Two Ih rd oi a number ncreased by 5 equals 27. Findllre number.
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20. By selling a rable tor Fs. 56,
Whal islhe cosr pice ?

21. Sove2x+4y+z=7
1Ox-2y+92=1

erily lhal Aw(BuC)= (A u B)uc
c = {3,4, 5i.

ons by cnmeis rule 2x-3y= 3
4x-Y=11.

11 321 [3i2l
6s:A=lo 2 1LB= 4 2 3.
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actr i6qidq eld{t m}ib\/"i#'
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Using lhe tollowing sels v
A=11,2,31,B={2,4,6),

Solve lhe lollowing equaii

Flnd the prod'rc1 ol malric

€
wer any two questions- E

l1
Fh.l the rnverse ol A = ll

16.

'17.

18.

t9.

ercenl as ils costs n rupees.
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